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NEHSAEX S (HEAI) 6,900,000 10,373,000 A3,473,000
403 AXIEHHSAH=201H 6,900,000 10,373,000 A3,473,000
01 HXIHHA 22X 6,900,000 10,373,000 A3,473,000
ONM=ELEAIE HE 6,900,000
=0HSFME 2 9,600,000 9,800,000 A.200,000
Il 9,600,000
403 AXIEMSA=201E 9,600,000 9,800,000 200,000
Il 9,600,000
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Jl 6,000,000
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7l 936,000
01 MHXIHH A =222 936,000 1,699,500 AT763,500
OZ2ZMSAIE HES 936,000
) 936,000
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OMSAIE HE BIXAIY (BTL) 1,121,717
CAXMEAIE BE & B2 955,000 955,000
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01 A= 2L 126,000 126,000
O=2IFEN MEAIE X&H 126,000
3=y gAY 3,600,000 3,600,000
403 MR EHSAHE01H 3,600,000 3,600,000
01 MXIHHA 22X 3,600,000 3,600,000
Oomza=nd IdAY 3,600,000
STREEUE(HEAY) 14,050,000 0 14,050,000
403 AXIEHHSAH=201H 14,050,000 0 14,050,000
01 AXIEHM A= 2 £ 14,050,000 0 14,050,000
OfEeI= =RSEUE MSHSAL X4
Ard 11,000,000
O=7158lH U= A8 3,050,000
daHs 29t 320,000 392,500 AT72,500
Jl 320,000
=0IM=100 M SHE 320,000 320,000 0
Jl 320,000
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Jl 320,000
01 XN BSELES 320,000 320,000 0
O=CHMH100 XHHASHE 320,000
Jl 320,000
dH2LIHI(HM=EED) 52,200 52,200 0
Jl2dbl(MsED) 52,200 52,200 0
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201 fet=3| 24,480 24,480 0
01 AtR2t2|HI 24,480 24,480 0
OMsdsge=d 24,480
202 04| 24,480 24,480 0
01 SLHoIH 24,480 24,480 0
OMsdsgezd 24,480
203 HE=AH] 3,240 3,240
M RFAZSLRFEI 3,240 3,240
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